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FA: 2ateatt
B 2opgstol AN HE WS
o RLERAS BN U s (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 9,000 7,560 1,440
= 6,000
== 3,000
01 XN BSELS 9,000 7,560 1,440
OMIAISAE 529 M2 HIEeld 9,000
= 6,000
& 3,000
S HIIEU MI| OHXEgE=z & ds)E 2= 60,000 50,000 10,000
= 30,000
= 30,000
308 XtXIEMSO0IE 60,000 50,000 10,000
= 30,000
< 30,000
13 27/ 2SO CHEH 3 AL E SISt At 60,000 50,000 0,000
OBY #II ML) JiXgE 2 @)
gt A= 60,000
= 30,000
< 30,000
2Rd SE2EM S8 & ds)iE 25 100,000 70,000 30,000
= 50,000
= 50,000
308 XXM SOIA 100,000 70,000 30,000
= 50,000
=S 50,000
18 SIS0t 4 A AS At 100,000 70,000 30,000
OFg 224 24 =2 € ds)g 25 100,000
= 50,000
< 50,000
g ASLA AXH0 E HF 2 Ol RFEFLR 52,500 0 52,500
Xl &=
= 35,000
= 17,500
308 XXM SOIH 52,500 0 52,500
= 35,000
= 17,500
01 XN B2 LS 52,500 0 52,500
O'Ed MEUAl AXIF0| L SRl 0l
SE RN X 2= 52,500
= 35,000
< 17,500
g8 SEXS 0 4& ddl, 9k ds 243t 60,000 0 60,000
= 40,000
= 20,000
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FA: 2ateatt
M SOtRAY MAR 2 ds
Hel: RERMS B A XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 60,000 0 60,000
= 40,000
== 20,000
01 XN BSELS 60,000 0 60,000
Ogdl 58Xy =1 & 2
ds 243t 60,000
= 40,000
= 20,000
20i =2l ZLHH| S ds 243t 75,000 0 75,000
= 50,000
S 25,000
308 XXM SOIA 75,000 0 75,000
= 50,000
== 25,000
01 HRSHHBAEES 75,000 0 75,000
S0 =l ZUH S ds 243 75,000
= 50,000
< 25,000
AE so &2 46,624,887 52,907,851 6,282,964
= 27,046,716
Jl 1,609,000
< 17,969,171
=REssat2e] A 27,500 27,500 0
= 27,500
308 XXM SOl 27,500 27,500 0
= 27,500
01 AXEH B EES 27,500 27,500 0
O=7I2et74t XY =RMa /52l 27,500
= 27,500
SaEAE=E Edl 500,000 336,400 163,600
403 AXIEHHSAH=Z01d 500,000 336,400 163,600
ARSI E 2 X 500,000 336,400 163,600
OE&ZAd= bl 300,000
OSSZAEE EFHI(BE) 200,000
CEXNE2a=a ST & E2HXE | 60,000 33,129 26,871
403 X SHHMSAH=01H 60,000 33,129 26,871
01 AXISHHA =2 & 60,000 33,129 26,871
OEXNEEs=a et & E2HXE &
] 60,000
=t NE )& 2 S5 23t | 1H] X2 26,492,308 32,811,832 6,319,524
= 21,661,430
= 4,830,878
403 MXIEHHS =201 26,492,308 32,811,832 6,319,524




M 2etFA
B 2opsstol AN HE WS
=Rl XE =i 2E2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,661,430
=S 4,830,878
01 A2 2L 26,492,308 32,811,832 N\6,319,524
O=JHd2at74t 24| 26,234,308
= 21,489,430
< 4,744,878
O=IH8 SESst=4 243l 258,000
= 172,000
= 86,000
SRR 22| H BaRL T S 100,000 133,000 /33,000
201 Ler23 | 100,000 133,000 /33,000
01 At2t2ltl 100,000 133,000 /33,000
O=274RARs 28 S 100,000
1% OI0IXI #IIAS 4,481,700 4,606,000 A184,300
= 3,518,000
< 963,700
201 er2 3| 10,000 15,600 A5,600
01 AtR2te|HI 10,000 15,600 25,600
OLEEE 54 E2AM 284 10,000
403 AXIEHHSA=201H 4,471,700 4,650,400 A178,700
= 3,518,000
= 953,700
01 AXISHHA=2EE 4,471,700 4,650,400 A178,700
O1E OI0IXI #I1 At 2,025,000
= 1,350,000
s 675,000
OUSA SAI=RHEHI 1,072,100
= 950,000
== 122,100
ORNEZ 2N 790,000
= 700,000
= 90,000
OR0 MAFA SLHEME HE 564,600
= 518,000
< 66,600
2N 1=s4 AZAY 103,350 103,350 0
= 79,500
= 23,850
308 AFAIEHMSOIE 103,350 103,350 0
= 79,500
= 23,850
01 AXH B2 LS 103,350 103,350 0




FA 2ottt
B 2opsstol AN HE WS
Rl NE =7a 2&22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLUEEZE |4 FUH0N 2SN 103,350
= 79,500
== 23,850
EotRe SSAY 3,218,000 3,174,000 44,000
Il 1,609,000
= 1,609,000
307 21201 & 3,218,000 3,174,000 44,000
Jl 1,609,000
= 1,609,000
02 LB HANHEE 3,218,000 3,174,000 44,000
O=R3R& =AY 3,218,000
Jl 1,609,000
=S 1,609,000
CXNE=2etmal 23| 5,136,000 4,520,000 616,000
403 MR HHMSAHE01H 5,136,000 4,520,000 616,000
01 MHXIHH A =222 5,136,000 4,520,000 616,000
CXNE2etmi BT 5,136,000
ZaRe N8 & s3 175,000 50,000 125,000
308 AtXIEHMSOIE 175,000 50,000 125,000
01 AXEH B EES 175,000 50,000 125,000
O=3r4 N8 - S5 & &3 50,000
OO0ttt = 287E SA & 2etFat X
g 125,000
SE2otR4 A 360,000 160,000 200,000
308 AXIMSO0IA 360,000 160,000 200,000
183 S| 2SS AEAIE 360,000 160,000 200,000
OEXNEEstmet XA 160,000
O9AZsetd 2&EX9 82 HE8d A 200,000
T N2 22 100,000 100,000 0
403 TR M SAH=01 ™ 100,000 100,000
01 AR A =2 £ 100,000 100,000
Ok NEEsre 218 2= 100,000
HSAE EFBI(AZX2) 1,872,000 1,404,000 468,000
= 1,248,000
< 624,000
403 MR HHMSAHE01H 1,872,000 1,404,000 468,000
= 1,248,000
= 624,000
01 MHXIHHA 222 1,872,000 1,404,000 468,000
O SAHZEE 43| 1,872,000
= 1,248,000
= 624,000




FA 2ottt
B 2opsstol AN HE WS
Rl NE =7a 2&22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEAZ LTHAIAL RE(AZXH2) 280,800 90,000 190,800
= 187,200
== 93,600
403 MR HHMSAHE01H 280,800 90,000 190,800
= 187,200
< 93,600
01 A= 2L 280,800 90,000 190,800
OHSAHE ALY 2= 280,800
= 187,200
= 93,600
HSAME SMAIAE SN2 487,629 458,400 29,229
= 325,086
=S 162,543
308 XXM SOl 487,629 458,400 29,229
= 325,086
< 162,543
01 XN BSELES 487,629 458,400 29,229
OHSAtE SMAIAE SN2+ 487,629
= 325,086
= 162,543
NEHSAHE == 1,185,600 1,855,450 669,850
403 AXIEHHSAH=201H 1,185,600 1,855,450 669,850
01 AXIEHM A= 2 £ 1,185,600 1,855,450 669,850
OXLESAIE E= 1,185,600
NLHEME 25 2 100,000 100,000 0
403 X SHHMSAH=01H 100,000 100,000
01 AXISHHA =2 & 100,000 100,000
OXNLESAHE 218 2+ 100,000
MHLNE Bt A 1,500,000 2,350,000 /850,000
401 AIEHIX R0 1,500,000 1,980,000 480,000
01 AlZ2H| 1,500,000 1,980,000 A\480,000
Ol 3382 8EMY AR 24 1,500,000
SEET N 2etmi SE2CAAE 72l 110,000 50,000 60,000
201 223 110,000 50,000 60,000
01 At22t2lt] 110,000 50,000 60,000
OXE a4t SE2CIAIAE X2 110,000
NE ot 22 XAHE2EA) 90,000 0 90,000
308 XXM SOIA 90,000 0 90,000
01 XN B2 LS 90,000 0 90,000
OGADE &0ieE AEH=0IT 2dE 2
& At L2 AAHCRIEO) 90,000
=Ot=AXIZ0l &M 2SX2 10,000 0 10,000
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FA: 2ateatt
ma: 2R AR BE M
Chel: 23RA FHHY 2 =2 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 288,900
01 HASHHBSEEXS 930,900 812,000 118,900
O 2374 Ar 930,900
= 642,000
= 288,900
S MY 23R4 S ALY 1,210,750 1,204,950 5,800
= 835,000
=S 375,750
308 XXM S0l 1,210,750 1,204,950 5,800
= 835,000
< 375,750
01 XN B2 LS 1,210,750 1,204,950 5,800
OSUANE 2etre 28 1,210,750
= 835,000
= 375,750
DS 2SAY 587,250 627,850 240,600
= 405,000
= 182,250
308 XX HMSO0IA 587,250 627,850 240,600
= 405,000
s 182,250
01 HXEHH B E2ES 587,250 627,850 240,600
oLuusExd 28 587,250
= 405,000
[ 182,250
TSLAL FOtRAE 2SAIE 432,100 298,700 133,400
= 298,000
= 134,100
308 AFAIEHMSOIE 432,100 298,700 133,400
= 298,000
= 134,100
01 AXNBEES 432,100 298,700 133,400
OHSLAL 2ot74E ESAY 432,100
= 298,000
== 134,100
=It=a Rl AHY 1,380,400 1,605,150 N224,750
= 952,000
= 428,400
308 AtXIEMSOIE 1,380,400 1,605,150 N224,750
= 952,000
= 428,400
01 RSN B EES 1,380,400 1,605,150 N224,750
O23st=at OF AH 1,380,400




FA: 2ateatt
ma: 2R AR BE M
Hel: 23RS FHHY % 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 952,000
=S 428,400
NS 20tFANS BLSIAIY 81,000 96,000 215,000
Il 54,000
< 27,000
308 AHAIEMSOIE 81,000 96,000 15,000
Jl 54,000
= 27,000
01 HAHHBSEXRS 81,000 96,000 15,000
OXg =Itzatu= 81,000
Jl 54,000
= 27,000
23R4 2ENASHASAY) 1,986,000 500,000 1,486,000
403 MR SHHMSAH=01H 1,986,000 500,000 1,486,000
01 AXISHHA =2 £ 1,986,000 500,000 1,486,000
O=210} 018 &4 MIHX = ZEEHIAL
& 1,236,000
O2g == 3% TdAE 750,000
ZU S A2 etE2 2435t 309,000 0 309,000
= 206,000
= 103,000
403 AXIEHHSAH=01 309,000 0 309,000
= 206,000
s 103,000
01 A= 2L 309,000 0 309,000
OAMEE N 2UFAI2 ISt d 309,000
= 206,000
[ 103,000
A2l SRS E X2 15,640 70,640 55,000
ARIEtHl 54 € X1 15,640 70,640 55,000
307 21201 & 15,640 55,640 40,000
02 QIS ER 15,640 55,640 240,000
O & Wl ARXNEX s 15,640
SR S AL 2,142,550 2,110,772 31,778
= 31,000
Il 1,409,095
= 702,455
2ate4 M FHIR HiX R 2 1,197,805 1,171,561 26,244
Jl 798,540
= 399,265
308 XtXIEMSO0IE 1,197,805 1,171,561 26,244
Jl 798,540
s 399,265




FA: 2ateatt
ma: 2R AR BE M
Rl 2etea I A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 1,197,805 1,171,561 26,244
OS2IL2etmat HHBHIE HHXI 1,197,805
Jl 798,540
< 399,265
ZotRa HHYXIAIE 25 469,100 425,250 43,850
Il 332,200
= 136,900
403 AXIEHHSAH=201H 469,100 425,250 43,850
Il 332,200
= 136,900
01 AXISHHA=2EE 469,100 425,250 43,850
O=JINd 274 MHSXIAIE EX &
HH 469,100
Jl 332,200
== 136,900
CNE=s=L SHAE 25 100,000 112,700 12,700
403 AXIEHMSA=Z0l1d 100,000 112,700 12,700
01 MXIHHA 22X 100,000 112,700 A12,700
O=XEEst=4 SMAIE A= 100,000
EaRe SWAIE 7X22 K& 338,002 364,225 N26,223
7l 278,355
= 59,647
308 XtXIEMSO0IE 338,002 364,225 N26,223
Il 278,355
== 59,647
01 XN BSELS 338,002 364,225 26,223
SRR detdie] ESAE &
LHAIE FXl2el 338,002
Jl 278,355
= 59,647
2ate4a STHEE AAE 2 - 22l 37,643 0 37,643
= 31,000
= 6,643
308 XtXIEMSO0IE 37,643 0 37,643
= 31,000
s 6.643
01 XN B2 LS 37,643 0 37,643
O=atri EHEE AMAH 29 & 22l 37,643
= 31,000
[ 6,643
HHIRE S & 2el 66,035,972 65,107,673 928,299
= 53,688,539
= 12,347,433
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2A:

X XH -
o=

=IIR&S HAHE 22 85

SRl AAIRA SR 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR BESS ARXI (EHA) 30,000 30,000

308 XXM SOIA 30,000 30,000
18 SIS0t 4 A AS A 30,000 30,000
OB &alo] 23HF JiXI2F 20| =Hats A8 I
EXAN AT A StE3 30,000
et=9| MY MAFLASHFN 75,000 87,500 212,500
308 AHRIEHMSOIE 75,000 87,500 12,500
01 X HHNBAEXS 75,000 87,500 212,500
Ogt=29] Mg AARL 22H 2 75,000
gt=2 M3 MAISA 2&E2e 71,500 117,000 45,500
308 XXM SOIA 71,500 117,000 45,500
01 AXEH B2 LS 71,500 117,000 /45,500
Ost=2 A& MAIFL 22l 71,500
HHMRE MAFL Setc] & &2 400,000 400,000 0
306 £= 400,000 400,000
01 2d= 400,000 400,000
OBNFA MAFL Seratel E 82 400,000
MR MAFA BE2HCIAIG 60, 189,857 60,282,643 N92,786
= 49,474,000
= 10,715,857
403 AXIEHHSAH=201H 60, 189,857 60,282,643 N92,786
= 49,474,000
= 10,715,857
01 AXISHHA=2EXE 60,189,857 60,282,643 AQ2,786
OWMRE MAFL 2E2 AL 60, 189,857
= 49,474,000
== 10,715,857
HAI= L E2AHY 391,560 275,925 115,635
= 301,200
= 90,360
308 AtXIEHMSOIE 391,560 275,925 115,635
= 301,200
= 90,360
01 XN EES 391,560 275,925 115,635
OAIAI= L 22 AHY 391,560
= 301,200
= 90,360
NIz L EZ A 331,500 176,800 154,700
= 255,000
< 76,500
308 AHAIEMSOIE 331,500 176,800 154,700
= 255,000




AN ZstsAtnt
I JIRAL HAHA B& s

SRl AAIRA SR 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 76,500
01 HASHHBSEEXS 331,500 176,800 154,700
OMIAI=L 28 At 331,500
= 255,000
= 76,500
H&ERs RENS 2 155 569,500 850,000 280,500
= 469,000
=S 100,500
308 XXM SO0l 569,500 850,000 280,500
= 469,000
< 100,500
01 XN B2 LS 569,500 850,000 280,500
Ot =stl =&EXS 82 &3t 569,500
= 469,000
= 100,500
NAHS & OIS A 22t=4F AL 100,000 0 100,000
308 AHXIHMSO0IA 100,000 0 100,000
01 RSN EES 100,000 0 100,000
OAIAI= L D= AL 23t 4 AL 100,000
HIADIER A E2 A 65,000 0 65,000
= 50,000
== 15,000
308 AHXIEMSOIE 65,000 0 65,000
= 50,000
< 15,000
01 HAHHBSEEXS 65,000 0 65,000
OMAD ISR S E2XIH 65,000
= 50,000
= 15,000
NIs & BE2t2| (A2 AH2) 3,812,055 1,770,305 2,041,750
= 3,139,339
=S 672,716
403 X SHHMSAH=01H 3,812,055 1,770,305 2,041,750
= 3,139,339
< 672,716
01 AXISHHA=2 2L 3,812,055 1,770,305 2,041,750
OMIAIFA 222 A 3,812,055
= 3,139,339
= 672,716
Z3Hd e 20,690,600 24,566,000 A3,875,400
= 1,150,000
[ 9,183,000
= 10,357,600
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FA: 2ateatt
mr: 2 g
el ERSUSSA BARBIWLAL (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Holset AARsel(EE) 1,004,400 1,560,000 555,600
= 837,000
== 167,400
403 AXIEHMSAH=0lH 1,004,400 1,560,000 555,600
= 837,000
< 167,400
01 A= 2L 1,004,400 1,560,000 555,600
Ol (2USE HAH=Cl 1,004,400
[ 837,000
= 167,400
SHISS 23t2H(E ) 1,512,000 1,500,000 12,000
= 1,260,000
=S 252,000
403 MR SHHMSAH=01H 1,512,000 1,500,000 12,000
= 1,260,000
< 252,000
01 AXISHHA 22 % 1,512,000 1,500,000 12,000
OFY HHIE2 St 1,512,000
[ 1,260,000
= 252,000
FALAO Z2l0tS (04 3,644,400 1,561,200 2,083,200
[ 3,037,000
= 607,400
403 X SHMSAH=01H 3,644,400 1,561,200 2,083,200
s 3,037,000
s 607,400
01 A= 2L 3,644,400 1,561,200 2,083,200
OO0ll&k =AM Z20tS 3,644,400
= 3,037,000
[ 607,400
AAIE S| HiCtaallZ (EH ) 1,200,000 1,080,000 120,000
[ 1,000,000
= 200,000
403 AXIEHHSAH=201H 1,200,000 1,080,000 120,000
= 1,000,000
= 200,000
01 AR A =2 £ 1,200,000 1,080,000 120,000
OEHet AtelS2l Bith=dlZ 1,200,000
= 1,000,000
== 200,000
so|tg S (s 600,000 0 600,000
[ 500,000
= 100,000
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C9: SHONSHA ZADBINLAIY (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 600,000 0 600,000
= 500,000
== 100,000
01 AXISHHA 22 % 600,000 0 600,000
Osdt steletdits 600,000
= 500,000
& 100,000
SERUIHH AL NS A 500,000 0 500,000
[ 250,000
= 250,000
SERUEY T2 Y 250,000 0 250,000
= 125,000
=S 125,000
308 AHXIEMSOIH 250,000 0 250,000
= 125,000
< 125,000
18 SIS0t HAS A 250,000 0 250,000
OSF=uEY T2 )8 Y 250,000
[ 125,000
== 125,000
SERUEE S EHE Y 250,000 0 250,000
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= 125,000
308 XXM SOIA 250,000 0 250,000
s 125,000
s 125,000
18 SIS0t & HAS A 250,000 0 250,000
ORI SEAZEai 250,000
= 125,000
[ 125,000
NS Eoe-at 4,265,000 3,178,600 1,086,400
= 2,360,000
s 1,905,000
ANS=2st dS 4,265,000 3,178,600 1,086,400
= 2,360,000
[ 1,905,000
BUWESIAIE A (=EAL) 1,125,000 1,800,000 A675,000
= 750,000
== 375,000
403 AXIEHMSA=Z0l1d 1,125,000 1,800,000 675,000
= 750,000
= 375,000
01 XIS A=E £ 1,125,000 1,800,000 A675,000
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FAN: Estmatn
FH: NS ==t24st
&t XNg2s8 s (CH9: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 486,000
01 AR AH=2E £ 1,296,000 0 1,296,000
Odll0I=HdXl =SS NAE A 1,296,000
= 810,000
== 486,000
A28 X =SgEshdly A8 960,000 0 960,000
= 600,000
S 360,000
403 MR HSTH=01A 960,000 0 960,000
= 600,000
= 360,000
01 AR AH22 £ 960,000 0 960,000
OUWAIZEA Sg=2stdE HE 960,000
= 600,000
= 360,000
SRRl SAHRIOHE = 2,178,100 2,578,100 A400,000
SN2 23 1,873,500 2,273,500 400,000
ANEE =Rl2c 873,500 923,500 /50,000
201 Lt 55,500 55,500 0
01 AtR2telbl 25,500 25,500 0
O MEZateXl 2et+=Zh| 25,500
02 324l 30,000 30,000 0
OANZEHIRXH S 30,000
301 2 E = 18,000 18,000
14 J|Et2 a3 18,000 18,000
OsAt 2 Es4ld| 18,000
307 212t01d 800,000 850,000 /50,000
05 eizte(& = 800,000 850,000 /50,000
ouztAg 2e|=2gH| 800,000
NEE E3A 1,000,000 1,350,000 /350,000
401 AlZHIZ S 0HHI 1,000,000 1,350,000 A350,000
01 AlZHI 1,000,000 1,350,000 350,000
OANdZE Ex=E2AHY 1,000,000
RIS A2t 23 304,600 304,600 0
=32 X2l 274,600 274,600 0
201 ZEet23 ] 90,000 90,000 0
01 AtR2telbl 40,000 40,000 0
O2stat Let=ZH| 30,000
Ogxz(rE82s 8) 10,000
02 2324l 50,000 50,000 0
OAEEHISXHl S 50,000
202 04l 9,600 9,600 0
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